O 2-HoNA x of 27

® 4 @ 4.5 ® 5

@ 5.5 @6

xXx=3x%x12
x2 =36
Lx=6(x>0)




O& 2HS J0E o, x 9 gh& vk A2 222

@ (1)21,(2)13

M1(1+x)=3x7, 1+x=21
Sox=20

(2)5 x 12 = 6x, 6x = 60
Sox=10




4cm,ﬁ:3cm?—:1 ,_FQ]E]]
=7
1
@® ;cm @ T7em
1
® ;cm @)8cm
17
@ 7(3111

PCxPD = PE x PFo|2&
——— 24
6X4:3><PF,PF:§ = 8 (cm)




4.  "HlA x 9 g27? (&, PC &= FAelth)

D1 @ 2 ® 3 @)4 ® 5

PC° =BC x AC

36 = BC(BC + 5)
BC +5BC-36=0
(BC+9)(BC-4)=0
~BC=4




Il x o 27 (F,

® 5

@6




.
Q nlo

™I Zol ¥ O 9] A& AB 9
L

D 9 w3< P 251, OB = 5cm,
PC = 2¢ cm, PD = 6cm @ o, PO 9
Lol
@\/ﬁcm @ V15cm
@ V17cm ® 3v2cm

~&B

PO=x2}3ld AP =5-x

PA-PB=PC-PDo|B=&

6x2=(5+x)(5-x), x> =13
PO = Vi3cem




thg T3 2ol 24 ¢, D, E
EAB 94 P S A

PD ol 2ol patoler

@ 3 @ 4 3)5
@ 6 ®7

B

AP xBP =PD x PC

AP xBP = PE x PF
PDxPC = PExPF 0|2 &
2x 10 =PD x4

- PD=5




th-2o| A4 ABCD 7} Qo WA stk
st off, AD 2] Zo]=?

61 61 64
o= @g ® =
@2 0

B

OABCD 7} ¢eof] Yotz
PAxPD =PBxPC

3x (34 %) =5x14, 94 3x =70
3x =61

X = —

3




9. Th& IYelH PT & 90 9 Faol,
T Aol x o ghe w7

@64 @65 G 66
@ 7 ® 175

B ~

AT =6,AP =10 0|22
PT = V102 - 62 = V100 - 36 = 8
82 = xx 10, 64 = 10x
64 32
T 5 T

6.4




10. o2 2HA PT
A5l PA =3, AB
o, PC 9] Ao]=?

@ 3 @)+ ® 5 @ 6 ® 7

B
PT'=PAPB , PT =PC-PD
. PA-PB=PC.-PD
PC = x 2 5tH
3X(34+9) =xx(x+5)
(x+9)(x-4)=0
x=4




mlo

2 AB & 41502 5k ¥l 0
@ CD & uet A2 Tgelch.
o 257} o] AgAlo] Wit
P et WA WS rE T o

O rel

Ol g o G

rEL tlo

9

@ 3 @ 4 @4.5 @ 55 ® 6

B ~

PA-PB=PD-PC |2 3(3+4r+7r) = 4(4+5)
9+ 6r =36

6r =27

Lr=4.5




O CD =3 ot}

@ OAEDB + ¢ Qtofl 3t
@ACAD #+ /CBE

@ AB = 99| A&l

® CExCA =CDxCB

/CAD = /CBE




@ 26 @ 36 ®

~&B

X =(4-y)(4+y)

9=16—y?
2 __
y=7
y>O°]E§
y= V7

soxy =37

AP=AQo|BE x+8=11..




14.

~&B ~

20 = (6-x)(6+x) = x*=16 = x=4=b-a, ZCBD =90°
O|BZ g2 + b2 = 122

b-a =49 FAL AFSH

(b-a)? =42

a® — 2ab + b*> = 16

144 — 2ab = 16 (- a* + b* = 144)

—2ab = —128

o Nab =8 (- ab>0)




15.

2w} 2ol 9 O 9] 9o gl
§ P oA 90 o 1 AT
%4 0 2 Ak @4lo] o] Az
BILH Al S 42T, A, B o

Sttt PT = 43, AT = 4 0|1, A
(ABT = /APT ¥ 4], ABOT 9]

ol atH? P < >
oH ] —?L ]— \4\/§,,

@ 3v3 @4\@ ® 53 @ 6vV3 ® V3

B

(ABT = /APT, /ABT = /ATP

AH7v e o] 97ko] JAof wkat /BAT = /APT + /ATP ©]11
(ATB =90° 0|22

/BAT = 60°, /ABT = 30° , wretA] A2+ o o|zto] Ao
oz} /AOT = 60°

et AOAT & Az go|nz

AT=A0=0B=
A FAHE A= AT HA Aol 9] A of what
(43)2 = PA x (PA +8)

ZPA=4(-PA>0
A B oA PT 9] A4 =4S Wl I 49 3 A
H 2} std

APTO  APHB (AA =) °|BE=2
PO:PB=PT:PH=O0T:BH

8:12=4v3:PH=4:BH

PH=6V3,BH=6

w2t ABOT 9] Heol+=

APBH-APOT-ABHT = %x6 \/§><6—%><4 \/§x4—%x2 V3x6 =
4+/3 o]t}

~—




